Name: Student ID: M13: Bending Deflections by Superposition

1. Determine the moment My in terms of the load P and dimension a so that the deflection at the

center of the beam is zero. El is constant. [Axf# B/~ 2 h s AL B A, 3 RE 5 M
A P LLE RS a Z Bk &R . W HRIE ENL N ]

2. The maximum deflection of the simply supported beam shown is required not to exceed
1/360 of the span length. Select the lightest-weight steel I-beam from appendix. Assume A a
pin and B a roller support. E = 200 GPa. [ 5% 3R 7R ] 32 BE i e K H8 FE AR F2 15 FE 11

1/360, AARYE LM 240 I SR P P E E R R L. W& 200
GPa. ]
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3. The assembly consists of a cantilevered beam CB and a simply supported beam AB.
Determine the displacement at the center D of beam AB. El is constant. [ EI/R2H &35 & &

B4 CB MR St AB, 03K AB H1 i D ALRIHREE . WS W Bl 9H 4. ]

70 kN

4. Determine the vertical deflection and slope at the end A of the bracket. Assume that the
bracket is fixed supported at its base, and neglect the axial deformation of segment AB. El is

constant. LR K7~ 32 480w 30 A ) R BB E AL M, 2% AB 3 5 A8, HZ5dh
NI El 4. ]

1 kN/m
BY Y YYYVYVYVYVYY 10 kN
‘ , —
BT -4 m - -A
3m
C

Page 2 of 2



